Kungsbacka BS
HCP trivselbridge 2021-08-11

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poéng % Namn MID Klubb
1 10 217.6 64.77 Lena Tisén - Marianne Nilsson 27813 42778  Kungsbacka BS
2 2 198.2 58.99 Karin Barkman - Monica Edwall 85787 37613 Kungsbacka BS
3 13 192.2 57.19 Gosta Ignell - Anders Hugosson 48138 66780  Kungsbacka BS
4 5 180.8 53.81 Sture Ekberg - Evald Jensen 4859 9951 Kungsbacka BS
5 8 175.6 52.26 Dennis Magnusson - Rolf Wikhall 50255 14474 Kungsbacka BS
6 3 172.4 51.30 Marian Svensson - Olof Norberg 31163 4827 Kungsbacka BS
7 7 168.7 50.20 Stefan Magnusson - Siv Nilsson 55411 38201  Kungsbacka BS
8 11 166.9 49.68 Krister Andersson - Sivert Tandrup 54835 48839 Kungsbacka BS
9 15 162.6 48.40 Stellan Fredriksson - Enar Bergstrém 2741 14921 Kungsbacka BS
10 16 160.8 47.86 Mona Nilsson - Eva Karlsson 59255 42862  Kungsbacka BS
11 1 160.5 47.76 Gunilla Fjellstedt - Ove Andréasson 83837 27798 Kungsbacka BS
12 4 154.6 46.02 Leif Wennebrink - Hans Barkman 2755 85786 Kungsbacka BS
13 14 152.8 45.47 Ulla Hamrén - Birgitta Karlsson 39256 45583  Kungsbacka BS
14 12 148.3 44.15 Lars Eklund - Margareta Eriksson 24376 48730 Kungsbacka BS
15 6 145.0 43.15 Roland Eliasson - Leif Landhquist 4570 90741 Kungsbacka BS
16 9 131.0 38.98  Ann-Christin Carlsson - Birgitta Roos 90650 90649  Kungsbacka BS
1 496 2 410987 3 4875
Nord vD2 Ost v EK8 Syd vKn94
Ingen + EKD632 NS ¢ KKn10 ov + 1097
#Kn85 #9032 #K763
4 ED7 & Kn1042 4 EKKN32 6 4 EKD1042 #Kn93
vE105 v 9863 vD72 v 106543 vE5 vKD10
+9 +85 + ED3 + 87 + D62 + EKn85
#D109632 &EK7 &K7 #ED1064 #52 «D84
4 K853 « D54 46
v KKn74 v Kn9 v 87632
¢+ Knl1074 496542 ¢ K43
&4 #Kn85 #EKn109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 16 3¢ N+2 #A 150 140 00| 1 9 2NO-2 2 100 140 00| 1 9 5e4V-1 T 100 120 20
1 9 4¢ N= A 130 120 20| 4 15 3NO-1 2 50 120 20| 4 15 64 V-1 K 100 120 2.0
7 14 3¢ N= A 110 80 60| 6 12 1aV+1l ©vA -110 100 40|10 5 64V-1 *6 100 12.0 2.0
11 2 3¢ N= A 110 80 60|13 3 24V+1l K -140 80 60| 6 12 44 V+1 T -650 4.0 10.0
13 3 3¢ N= A 110 80 6.0| 8 16 3NV= aT -400 6.0 80| 7 14 44 V+1l 46 -650 4.0 10.0
4 15 44 V-1 ¢ A 50 40 100( 7 14 3NO+1 +6 -430 20 120| 8 16 44 V+1 45 -650 4.0 10.0
6 12 4¢ N-1 s] -50 10 13.0{10 5 3NO+1 2 -430 20 12011 2 44 V+1 9 -650 4.0 10.0
10 5 4¢ N-1 *A -50 10 13.0|11 2 3NO+1 +4 -430 20 12013 3 44 V+1l v9 -650 4.0 10.0
4 4 E32 5 498 6 4743
Vast vKn874 Nord v KKn2 Ost v DKn106
Alla +D NS ¢ EK7 ov ¢ Kn853
#108754 #EKn1032 a74
4 KDKn107654 49 4632 ~E104 4 K1095 & DKn2
v6 v EKD952 v4 vE76 v 97 v 842
¢E5 + Kn984 ¢ DKn9653 ¢ 42 ¢ K62 ¢+ ED7
*EK «D2 #754 #KD986 #K963 #D1052
48 4« KDKn75 4 E86
v 103 vD109853 v EK53
+ K107632 4108 ¢ 1094
#Kn963 »- #EKn8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
11 6 6NO-1 2 100 140 00| 1 16 4vN+1 &4A 650 80 60| 5 9 1lvS+2 &3 140 14.0 0.0
1 16 44 V+2 ¢Q -680 9.0 50| 2 10 4y N+1 ¢4 650 80 6.0| 2 10 INS+1 %6 120 120 20
2 10 44 V+2  &T -680 90 50| 5 9 4v S+l 46 650 80 6.0| 7 13 INS= 3 90 8 6.0
7 13 44 V+2  4Q -680 90 50| 8 15 4vS+1 +Q 650 80 6.0|11 6 INS= v9 90 8 6.0
14 4 464 V+2  ¢Q -680 9.0 50|11 6 4¢vN+1 ¢4 650 80 60|14 4 INS= a5 90 8 6.0
5 9 6aV= v7  -1430 20 12012 3 4vy S+l &5 650 80 60|12 3 1lvS= 46 80 4 10.0
8 15 64 V= +Q -1430 20 120|114 4 4vy N+1 o2 650 80 60| 1 16 INS-1 49 -50 1 13.0
12 3 64 V= ¢+Q -1430 20 120(| 7 13 3NN+1 #Q 630 0.0 140| 8 15 INS-1 a5 -50 1 13.0
7 4 Kn654 8 4 86 9 4106
Syd v EKKn943 Vast vD874 Nord vE54
Alla ¢ Kn5 Ingen ¢ Kn982 ov + 9754
&3 +D87 #D1054
4 K872 4D1093 4DKn104 49532 484 « D93
vD72 v1086 v EKn1053 vK62 vKD932 ¢876
¢K72 ¢ E1098 ¢- + EK107 ¢ EKD2 ¢1063
2976 #K4 #9653 *42 K2 #EKn98
s E & EK7 & EKKn752
v5 v9 vKnl0
+ D643 + D6543 ¢ Kn8
#EDKn10852 &#EKKNn10 763
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
3 11 3NN+2 &3 660 140 00| 2 9 3vyDV-2 +J 300 140 00|13 4 3NO-3 v] 300 14.0
5 16 2¢vy N+1 ¢A 140 120 20| 5 16 INS+2 T 150 120 20| 3 11 3¢ V-1 T 100 11.0
13 4 44 S-= a2 130 100 40| 8 14 3¢ S+1 4Q 130 100 40| 8 14 4v V-1 4T 100 11.0
2 9 4vyN-1 48 -100 6.0 80|12 7 2¢S+1 vA 110 70 70| 2 9 3vV= aT -140 5.0
8 14 3NS-1 a2 -100 6.0 80|13 4 2¢ S+1 «4Q 110 70 70| 5 16 3v V= aT -140 5.0
12 7 4vy N-1 ¢A -100 6.0 80| 1 15 34DO-1 v9 100 3.0 11.0| 6 10 3v V= oT -140 5.0
1 15 3¢ N-2 49 -200 10 13.0| 3 11 3v V-2 +J 100 3.0 11012 7 3v V= aT -140 5.0
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6 10 4v N-2 49 -200 10 13.0| 6 10 3NS-3 +Q -150 0.0 140| 1 15 4v V= T -620 0.0 14.0
10 « E1065 11 » K10954 12 » EK84
Ost v 432 Syd v D82 Vast v K9865
Alla + D83 Ingen ¢+ Kn4 NS ¢ E65
*Kn109 *E109 *E
«KD84 4932 473 « D862 & Kn2 «D10976
v6 vD1097 vEKn973 v654 vDKn732 -
¢ E10642 ¢ Kn9 ¢+ KD2 + 853 + Knl10 4987432
+K54 »E863 *632 *K74 +KD64 «103
«Kn7  EKn 53
v EKKn85 vK10 vE104
¢ K75 ¢ E10976 ¢+ KD
&D72 #DKn85 #Kn98752
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 16 3¢ V-2 v4 200 130 10| 1 14 3NN= «4 400 130 10| 6 9 4v N+1 46 650 14.0 0.0
4 12 24 V-2 v4 200 13.0 10| 4 12 3NN= «4 400 130 10| 1 14 4vN= 49 620 10.0 4.0
13 8 2NS+1 2 150 100 40| 6 9 INS+2 3 150 100 40| 2 16 4v N= 46 620 10.0 4.0
1 14 INS+1 ¢2 120 80 60|15 5 24S+1 a7 110 80 6.0| 4 12 4v N= +9 620 10.0 4.0
6 9 2vS-= ¢A 110 50 90| 7 11 3NN-1 +8 -50 6.0 80| 3 10 3NN= 46 600 6.0 8.0
15 5 2vS= «K 110 50 90| 2 16 3NN-2 v6 -100 3.0 110 7 11 4v N-1 2 -100 2.0 12.0
3 10 2¢ V-1 v4 100 20 120 3 10 3NN-2 a2 -100 3.0 11.0(13 8 3NN-1 46 -100 2.0 12.0
7 11 49 S-3 *A -300 0.0 140|113 8 3NN-4 v6 -200 0.0 140|15 5 4vyN-1 +9 -100 2.0 12.0
13 # 10983 14 «54 15 « D52
Nord v Kn95 Ost v 976 Syd v 9532
Alla ¢ 74 Ingen + D743 NS ¢ KD103
*EK86 #10542 72
476 & Kn542 # 986 « KDKn103 4 K109874 &E
v K732 vE1064 v Kn54 vE1082 v- v K10764
+ 86 + EKDKn3 465 + EK9 49765 ¢ Kng4
#DKn943 &- #DKn873 #E *K94 #D1063
« EKD ~E72 « Kn63
vD8 vKD3 v EDKn8
¢ 10952 ¢ Kn1082 ¢E2
#10752 *K96 #EKn85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 2 2v 0= & A -110 140 00| 4 11 54 O-1 +J 50 140 00| 3 9 INS+3 9 180 14.0 0.0
3 9 2v0+1 &A -140 120 20| 8 12 3¢DN-1 &K -100 120 20| 8 12 2v0O-3 ¢A 150 120 2.0
4 11 3v V+1l #A -170 100 40| 1 13 44 0= +J -420 70 70| 1 13 24V-1 *K 50 8.0 6.0
16 6 3v V+2 &A -200 80 60| 3 9 440-= a2 -420 70 70| 7 10 24 O-1 *2 50 8.0 6.0
1 13 4v 0= & A -620 40 100(14 5 44 0= +8 -420 70 70(16 6 24 0-1 +3 50 8.0 6.0
8 12 4y V= *K -620 40 100(15 2 44 0= a2 -420 70 70| 4 11 3vS-1 a7 -100 2.0 12.0
14 5 4v V= *A -620 40 100| 7 10 44 O+1 ¢K -450 10 13014 5 INS-1 oT -100 2.0 12.0
7 10 4v V+1  #A -650 0.0 140|16 6 44 O+1 %6 -450 10 13.0|15 2 3vS-1 s A -100 2.0 12.0
16 109 17 « KKn9 18 + 1064
Vast vKD9%4 Nord v DKn82 Ost v76
ov ¢ EK53 Ingen + 108 NS ¢ D7652
+K103 *ED98 #K109
oE # DKn6532 ~E106 48752 « D832 & EKKn97
vKn87632 ¥vE105 vE1054 v- vD843 vEKKn109
42 + D87 ¢ EKn74 ¢ K96532 ¢+Kn8 +E
#EKNn64 45 *65 #KKn7 #D53 #E8
« K874 « D43 a5
v- v K9763 v52
¢ Kn1096 ¢D ¢ K10943
#D9872 #10432 #Kn7642
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 13 4¢vDV-2 «T 500 13.0 10| 2 14 2vS= *5 110 120 20| 2 14 44 O+2 9 -480 120 2.0
8 11 3vyDV-2 +K 500 130 10| 4 10 2¢ N= *7 110 120 20| 9 7 44 0+2 v5 -480 120 2.0
1 12 24 0-2 +J 200 90 50|15 6 2vS-= 5 110 120 20|15 6 44 O+2 46 -480 120 2.0
2 14 4y V-2 ¢A 200 90 50| 1 12 2¢N-1 48 -50 50 90| 1 12 6vO= 45 -980 4.0 10.0
4 10 3#N-1 *7 -50 6.0 80| 8 11 2vS-1 *6 -50 50 90| 4 10 64 O= *J -980 4.0 10.0
9 7 3NN-3 a2 -150 30 1101 9 7 2vS-1 ¢A -50 50 90| 5 13 6vO= 43 -980 4.0 10.0
16 3 3NS-3 v6 -150 30 11016 3 3vN-1 48 -50 50 90| 8 11 64 O= +3 -980 4.0 10.0
15 6 3NN-4 v5 -200 0.0 140| 5 13 44 O= v3 -130 0.0 140(|16 3 64 O= +3 -980 4.0 10.0
19 « KKn64 20 » K98 21 « E97
Syd v52 Vast vD4 Nord v 109653
oV ¢ Kn1098 Alla ¢ED NS ¢ D653
#EKn10 #ED9853 D
«ED1098 43 «DKn4 4752 + Kn6 # 10843
v 107 v Kn83 vE752 vKn96 v Kn82 vED74
462 ¢ KD54 ¢ K82 10754 ¢ KKn874 -
#8652 «D9743 #K42  #Knl06 *Kn96 *K8743
4752 «E1063 « KD52
v EKD964 v K1083 vK
¢E73 + Kn963 ¢+ E1092
*K &7 #E1052
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
2 13 4vS+1 ¢6 450 11.0 30| 5 12 3NN+2 ¢4 660 140 00| 6 14 3NS= ¢4 600 14.0 0.0
3 15 49y S+1 +6 450 11.0 30| 3 15 3NS+1 v2 630 120 20| 5 12 34 S= *J 140 11.0 3.0
6 14 4vS+1 ¢6 450 110 30| 9 4 2NN+1 7 150 100 40|10 8 34 S-= *] 140 11.0 3.0
10 8 4v S+1 ¢2 450 11.0 30| 1 11 34 S= vA 140 80 60| 9 4 3¢S-= +] 110 7.0 7.0
1 11 4v S= A 420 50 90| 2 13 3#aN+1 9 130 50 90|16 7 1aS+1 8 110 7.0 7.0
9 4 4y S= ¢6 420 50 90| 6 14 3&aN+1 vJ 130 50 90| 1 11 INN= LX) 90 4.0 100
512 29S+3 48 200 20 120|16 7 24N+1 vJ 110 20 120| 2 13 240-1 vK 50 2.0 12.0
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16 7 4v S-1 a A -50 0.0 140|110 8 3NN-1 a7 -100 0.0 140| 3 15 2NN-1 &4 -100 0.0 14.0
22 &73 23 & Kn7 24 & E9642
Ost v EKD107 Syd v93 Vast v KKn7
oV 2 Alla +KD74 Ingen + EK62
108764 &#ED852 &3
& KKn94 «ED106 & KD54 862 41053 &K
v Kn98632 v- vDKn1072 K654 v 842 v E963
+96 ¢ KKn10854 + E1095 +83 + D43 + Kn985
&D &E95 - #K963 #DKn75 #10964
852 «E1093 & DKn87
v54 vE8 v D105
+ ED73 + Kn62 ¢+ 107
&#KKn32 &#Knl1074 &EK82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 11 24 O-1 v5 100 120 20|12 2 3vV-1 s 100 140 0.0| 3 14 44 N+1 vA 450 80 6.0
6 13 44 O-1 a2 100 120 20| 1 10 3v V= *+K -140 90 50| 4 16 44 N+1 vA 450 80 6.0
9 8 44 0-1 v5 100 120 20| 3 14 3v V= a] -140 90 50| 5 11 44 N+1 +9 450 80 6.0
4 16 2¢ O+1 48 -110 80 60| 5 11 2¢v0+1 v9 -140 90 50| 6 13 44 N+1 +8 450 80 6.0
1 10 34 O= v5 -140 60 80| 7 15 3v V= a7 -140 90 50| 7 15 44 N+1 vA 450 80 6.0
3 14 44 O= 48 -620 3.0 11.0| 6 13 3v V+1 ¢+ K -170 40 100 9 8 44 N+1 vA 450 80 6.0
7 15 44 O = *A -620 30 110| 4 16 34S-2 *A -200 20 12012 2 44 N+1 &T 450 80 6.0
12 2 44 O+1 &2 -650 00 140| 9 8 4v V= &A -620 0.0 140| 1 10 64 N-1 vA -50 0.0 14.0
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